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1 1.0 0.60 =
2 Dr- 8 5.0 0.40 =
3 - -
4 - _
13 3.0 0.20 =
2 2.3 0.35 - 2.3
21 3.0 0.50 =
1 3.0 0.38 =
2 3.0 0.25 =
3 3.0 0.38 =
22 1.0 0.20 =
23 2.0 0.30 =
3 2.9 0.25 s 2.9
31 2.4 0.30 =
1 2.0 0.60 =
2 - -
3 3.0 0.40 =
32 3.0 0.30 =
1 3.0 1.00 =
33 8 BLx 4.0 0.15 =
34 3.0 0.25 =
4 4.0 0.25 - 4.0
41 4.0 0.50 -
1 4.0 1.00 =
4.2 3.3 0.30 =
1 3.0 0.33 =
2 1/03 4.0 0.33 =
3 3.0 0.33 =
43 5.0 0.20 =
1 [co, - . .
2 5.0 1.00 =
Q2 0.30 - 3.1
1 2.8 0.40 - 2.8
11 2.3 0.40 =
1 1.0 0.33 =
2 3.0 0.33 =
3 3.0 0.33 =
12 3.0 0.30 =
1 3.0 0.33 =
2 + 5.0 0.33 =
3 1.0 0.33 =
13 3.5 0.30 =
1 3.0 0.50 =
2 4.0 0.50 =
2 3.2 0.30 - 3.2
21 3.0 0.50 =
1 3.0 0.80 =
2 3.0 0.20 =
22 4.0 0.30 =
1 3.0 0.20 =
2 30 5.0 0.20 =
3 20 30 5.0 0.10 =
4 3.0 0.10 =
5 (B) B 5.0 0.20 =
6 3.0 0.20 =
24 2.8 0.20 =
1 3.0 0.20 =
2 2.0 0.20 =
3 3.0 0.20 =
4 3.0 0.20 =
5 3.0 0.20 =
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3.2 0.30 3.2
31 3.4 0.30
1 3.0 0.60
2 018 4.0 0.40
32 3.0 0.30
33 3.4 0.40
1 3.0 0.20
2 3.0 0.20
3 OA 5.0 0.10
4 OA 5.0 0.10
5 3.0 0.20
6 3.0 0.20

1 BPIm= &7 5.0
2 3.0
3 [BEI] BEIM] - 071 3.9
4 3.0
4.1
42
4.1
4.2
2 34
1 34
1.1
12
1
2
2 3.3
2.1
2.2
23
24
25 R R
26 +H.GS+ OA 50 0.22
3 3.7 0.20 3.7
3.1 3.0 0.30
32 4.0 0.70
1 - -
2 5.0 0.50
3 3.0 0.50
LR3 0.30 3.3
1 COo2 80 3.7 0.33 3.7
2 3.1 0.33 3.1
2.1 3.0 0.25
2.2 3.0 0.50
23 315) 0.25
1 3.0 0.25
2 3.0 0.25
3 5.0 0.25
4 3.0 0.25
3 3.1 0.33 3.1
31 3.0 0.40
1 3.0 1.00
2 - -
3 - -
32 3.0 0.40
1 3.0 0.70
2 -
3 3.0 0.30
33 3.7 0.20
1 4.0 0.70
2 3.0 0.30
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